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to find the answer, we need to 
think what two alike numbers if 
added together makes 6 ?

Division Basics
(Half of a number(dividing by 2))

Student's Name :

Half of a number means dividing the number 
into exactly half. That means dividing the 
number by 2 is the half of a number.

For example,

of  6  = 

3  +  3  =   6
so, the answer will be 3. Means, same 
number adding twice to get the number 6.
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 + makes a whole.Note:

Now, do some practice:

   1.  32  ÷  2 =

  2.  50  ÷  2  =

  3.  

 4.  36  ÷  2  =

1

2
of  30 =

  5.  

 6.  100  ÷  2  =

1

2
of  68 =

  7.  

 8.  98  ÷  2  =

1

2
of  44 =

   9.   70  ÷  2 =

  10.    160  ÷  2  =

  11.  

 12.   54  ÷  2  =

1

2
of  90 =

  13.  

14.   88  ÷  2  =

1

2
of  160 =

 15.  

 16.    128  ÷  2  =

1

2
of  24 =
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